Assume a mouse in the maze has three routes to choose from. The probability of taking the routes #1, 2, and 3 are 0.35, 0.4, and 0.25 respectively. 

The route #1 gets the mouse out in three hours; route #2 brings it back to the center after 2 hours, and route #3 brings the mouse back to the center after a travel of 4 hours. If the probabilities remain the same, what is the expected time the mouse takes to get out?

The answer to this problem is: 8.1429.  But I still need to understand how it was arrived at.

